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S Ea %8 () Y = T (BAL)
Y3002 [=H (&) 55 40,689 1,080 1,080 162 55kg

31100 [ 50 '3, 456 756 756 540 510

31200 (L 5 853 43| 2 32 233

31700 | F 4 10 324 324 324 324 17—
31800 IEH)MAE 7 3,780 108 108 108 3548 |
31950 HAX 6 1,620 86 86 76 2048

31900 MAX 15 3,907 486 432 32 15kg

36800 5o X r 5 41 14, 850 486 356 162 4lkg

Y3041 LB X k9 4 346 86 86 86 kg |
34400 k= R 62 17,820 | 356 292 216 62kg |
34100 | #/% 8 432 86 86 86 54% ’
34100 #/I 37 5, 876 36 | 36 25 1834

34200 RN 74 15,919 238 | 238 173 T4kg

34270 Ry % —= 4 972 49| 49 49 2074

35100 W AT A 1 594 594 504 594 lkg

36200 A 4 216 54 54 54 4kg |
36600 ~EmE 80 9,936 140 140 108 80kg ‘
33300 |Tmy=zl)— 3 756 76 76 76 10{#
34780 BEEL S b A L 71 35, 986 151 151 151 238K |
34930 | LA o 8 2,419 130 86 76 267K

Y3017 |1t U 2 3,024 512| 1,512 1,512 2kg

Y3018 7H3 16 756 54 43 43 167

Y3030 | PAEAE () 2 3,078 620 1, 620 1,620 2kg

34800 |5< b 24 24, 624 108 97 97 240% v b
46108  SAMIEOEE 5 3,143 324 140 140 15,3 7
71011 A 7L —% 20, 488 49| a7 16 6704
71021 $F9d Y 22 2] 2 2 1074

71030 K5 t&F 8, 964 151 108 11 907K ‘
721032 RSEF GR) 2, 160 54 54 22 604

71040 EAE 389 22 22 22 1874

21150 | LIE 1,188 86 11 11 405

Y5010 Dbsax (&) 2 1,015 486 486 432 2kg

30100 I A 130 11, 988 108 86 86 1304 |
30300 A% L 40 8, 640 080| 1,080 1,080 fE~ 8r—= |
33500 5 HE 1 324 27 27 27 1248

33810 HIEH 4 648 32 a7 32 2048

53712 |\ U FRBRL 10 3,067 534 1,534 1,534 2T —RA
31700 F ¢ 190 6, 696 648 216 216 194 — =
Y3055 | L v R¥F -~ 9/ 97 11 11 o 9fE

31800 |39 NAE 5] 2, 160 86 86 86 2548

31800 1E)NAE 4] 1,512 76 76 76 2048
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SARG Ty 2 S| (kg) S5 (M) BE | wm | wE | FE (i)
31950 HAE 15 1,620 | 324 324 324 | T 5o —A
31950 HAX i 15 540 | 108 108 108 HE 54— A
31900 A X 10 4,460 | 378 162 162 B & 207 (500g)
131930 “hF 3 1,296 | 43 43 43 |EIR B 3043
32800 |12 5 10| 5, 454 | 59 59 43| 'H I 10038
34300 72 2L 20| 7,020 1,944 1,728 1,620 B 47—
34400 k= k 12| 2,268 | 756 756 756 REA 34—
34400 k< b L 12| 2, 268 | 756 756 756 LB B2,
34460 I =L E L 10| 6,998 151 151 140 | BEIR B 48,3y
34100 /K 55 | 11,124 1,080 972 972 | H 114 — A
34100 /I 2L 10| 2,052, 1,080 972 972 B 24— R
34100 #IK B 20 2,160 | 540 540 540 \FEVL B 448
34500 | B—< 5 3,413 | 65 65 60 | FEUE B 544%
34520 R —~ L 4 2,592 1,296] 1,296 1,206 ERE 24—
34571 XU A (R) 2] 1,296 108 108 108 | [E 12#
34572 XU H (H) 2 1, 296 108 108 108 | i [E 1218
Y3027 Lw Ri-Fh 5| 745 162 140 140 | ==2—2— 56X v b
| : | SUF
37200 L x 9 A 2L 8| 3,132 1,620 1, 620 1,512 | = 24— A
33400 L& = 24 1, 426 | 43 22 22 | K4y 481
33420 FU—rU—TLH R L 30 2,365 92 12 12 | & 150{E
33441 BRAAL - LA R 14 259 | 5 3 3 4@ 72{H
33600 StV 1,296 | 432 432 432 | 1&[m RE
38100 A LWM2lF ) 2,592 76 76 54| B 40,5y 7
33100 7 AT H 1,620 108 108 108 | BEA 153
31310 A% 432 22 22 22 fE 2048
31500 /MAZE 24 | 4,320 43 3 32 EIR 1204%
32500 AoiE 2 616 32 32 32| K4y 193
37560 BT 1 3, 834 486 324 324 | K4y 1075 7
38521 RARL®HLE g 3, 564 119 119 119 | & [ 304
41460 HAE 21 20 2, 160 1, 080 1, 080 1, 080 | E A o —2
42320 VaFI—L R 20 3, 564 2, 160 2,160 1,404 | HE 25 24— 2
46220 T U7 M 4 3, 456 1,728 1,728 1,728 | iR 2 —=
48000 T2 B |M 20 6, 480 1,620 1, 620 1,620 | F 41
49300 ¥ ¢ T — 5 3,132 3,132 3,132 3,132 =a—U— 14 —2
F = R
- , &&t 1,380 365, 584
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